Name

MISSING OPERATORS ...

OF:56
Fill in the boxes using symbols (+, X, —, +).
1) 15+3 3x6=21 2) 19+79-25 1.3=6.55
3) 7%5 14 =21 4) 2x9+11-10 2=24
5 17 1x5-(3+6)=13 6) 3 7+4=0
7) 3.6 09+1.8=5.04 8) 3x2° 5=17
9) (5+28) (14-1)+7=8 10) 77+7+2 5-10=11
11) 15.25-13.14 3.6xX14=7.15 12) 05°%3.2+1.7 09=1.6
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Name

MISSING OPERATORS ...

Answer key OF:56
Fill in the boxes using symbols (+, X, —, +).
1) 15+3 |+ |[3x6=21 2) 19+479-25|x|13=6.55
3) 7x5|-]14=21 4) 2X94+11-10|+|2=24
5 17|+ | 1x5-(3+6)=13 6) 3| -|7+4=0
7) 36 | x|09+1.8=504 8 3x2’|+|5=17
9 (5+8) |+ |(14-1)+7=8 100 77+7+2|x|5-10=11
11) 1525-13.14 | + | 36X 14=7.15 12) 05°x32+17|-/09=16
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